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Instructions :

200

(i) All questions are compulsory.

(i) Question Nos. 1 to 4 are objective type questions. Each question carries 1X5=5 marks.
(iii) Internal options are given in question nos. 5 to 24.

(iv) Marks of each question are indicated against it.

(v) Answer question nos. 5 to 13 in about 30 words each.

(vi) Answer question nos. 14 to 18 in about 75 words each.

(vii) Answer question nos. 19 to 21 in about 120 words each.

(viii) Answer question nos. 22 to 24 in abput 150 words each.

(ix) Draw neat and clean labelled diagram wherever required.
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(@) NaCl (b) HCI
(c‘] LiCI @) KCl
(i) T F oEE gw - g ¥ 1w
(a) 6 WEHAAE 4y ¥ | (b) 733'{3&1313{3.3?'
(c) 8 WEAUAF 49 ¥ | (d) 935&1:‘1%&3%{
(ifi) W%mqmammmwmm F an ¥ FA-a FT
T

(@) A B dMigs gpa gz §

(b) TAEGAT Tzl @ @ 9% 9Nl § |

(c) TTAT] AWET § zeEZ @ @ A T |

d) T AlrGEs atds aEd 8 a9d ¢

Fretffa § 4 2 vz faga aikas § faga gt @ Prefua T8 S 7
(@ I°R (b) IRZ

(¢ VI (d VIR

Frefafag 5 4 @ fe@ @4 faga arardl an & Free gEda & @
Fé 99 HLar & 7 |
(a) gﬁ%ﬁﬂﬁmwﬁmﬁmm%:

(b) TEEFE 49 F a7 @l ar F g Al

(c) Wﬁaﬂﬁmmﬁmm%ﬁwmmam%l
() TeEm A d WA Tael w1 %A dR

(iv)

Choose and write the correct alternative :
‘*,(I/ A solution reacts with crushed egg-shells to give a gas that turns lime-water
milky. The solution contains -
(a) NaCl (b) HCI
(c) LiCl (@) KClI
) Ethane, with the molecular formula CyHg has -
“ (a) 6 Covalent bonds (b) 7 Covalent bonds
,’C"(_:(\ (c) 8 Covalent bonds (d) 9 Covalent bonds
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W of e following statements is 8 COMEX! Statement shout the trends when
2002 Tom Jaft 10 Hight acrass the perods of periodic 1ahle 2

&y The sismmis hesome Jess metallic In nange

1D The omber of velence 2lectrons INCTeases.

1) The moms Joss thair Slacrons more easily.

d) Tae oxdd: hecoms more sadic

' 55ch e the following terms doss not represent electrical power in a circuit ?

=y IR ®» IR
) \1 (d) V3/R

Wiach of te following comectly describes the maemetic field near a long
STEg Qi wire ?

The mamene Hield consists of swaight lines perpendicular 1o the wire.
™ Ths mecnene Hld consxs‘Ls of smaight lines paralle]l 10 the wire.
The megnanic feld consists of radial lines originaring from the wire.
(3)  The magnese field consists of concentric circles centred on the wire.
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Acids =nd bases neumalise each other to form corresponding salt and

The focal Tength of a spherical mirror is 10 its radius of curvature.
Toz SI it of elecwic current is

A device that reverses the direction of flow of electric current through a circuit
i callad a :

Ozonz (0.) is @ molecule formed by atoms of oxyeen.
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3 9 Remy {%5=3
g i
(i) TRy (a) TeEe
(i) I (b) FE B ARH-TIA
(iii) T © TEEE
(ivy ™ (d) WeTeT HeRrao
(v) e ) WwE # FW
() @\ Ea
“Match the column :
v AT . "B"
A1)  Sphygmomanometer : (@ Excretion
Ai1) Kidney (b) Gaseous exchange
A(i1li) Smoking (¢) Blood pressure
ATv) Stomata (d) Photosynthesis
(V) Chlorophyll (e) Lungs cancer

(f) Respiration

4 us I ¥ Sa¢ faReg 1x5=3

() U TEmte affea @ am fafae, Red sftwral & 9ol &
AT BT & |
(i) ¥& W@ &1 pH 79 fafaq |
(iii) oNFEARTR F TS W FT A & 7
(iv) =9 g= fafag |
(v) CFC &1 qu =™ fafgg |
._WVrite the answers in one sentence each :

7 (i Write the name of equation in which there is an exchange of ions bet'ﬁgen
the reactants. -

'(ii) Write the pH value of pure water.

«(itf)’ What is the name of father of genetics ?
\Jiv) Write mirror formula.
J(ﬁ) Write the full name of CFC.

L =N
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Write the importance of pH in daily U (Any two importance)
anrc‘ﬁ“.f OR

AT et & el @ T m fafag |
_Write the chemical formula and one ﬁ-é of Baking Soda.
v e\
\/ﬁf' Hﬁ—ﬂ'ﬂ‘lﬁ%eﬂa‘-ua?rtrﬁﬁfﬁﬁﬁrﬁml 2
Define the covalent bond.
™M
Frg~ OR
\I/aﬂih & T eruTEdi & A fafan | O

Jj -
~  Write the two names of carbon allotrppes.

O |
/ Cozﬂgaﬁaﬂdﬂméaﬁmsgaﬁsé%ﬁﬁgmwﬁnﬁ? 2

\\}ﬁﬂmt would be the electron dot structure of carbon dioxide which has the

formula CO, ?
W-T:E.} OR
A W e fig e e
Draw the clectron dot structure of mtit_l’,r‘;anc.
a N
A W @ ofnf Bt N 2
.J/,’/Dcﬁne the Valency.
7 L OR
TR § oo ®wAHA € ! O
What do you understand by isotopes G[.:

- i @ G gRRer & ﬁaﬁaﬂ 2
f"jme the names of two contraceptive devices.

#qqr /| OR
T H g F g wA 87

What are the functions performed by the testis in human beings ?
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ve
K. How do Mendel's experiments show that traits may be dominant of recess

syat / OR
AT T W R SR |

~ Detine the inherited traits,

1w W T Rty ¥ ¢ , ’
N Why the plancts do not twinkle ?
aiyar / OR
ot el T W oy A @ e o s A g L

~ Why does the sky appear dark instead of blue to an astronaut ?

.

2 e aRew & o wm w7 | 2
n) "hat do you understand by electric circuit ?
< st / OR
et &t ity fafwg |
Define the potential difference.

13 mﬁéﬁ@ﬁﬁi%=m1m&meﬁfﬁpTmnaﬂﬁmﬁTﬁmrﬁmr%
- ”Name two devices in which electric motors are used.
) - s / OR
R drex & R aem & F@ qfE ¥ 7

What is the role of the split ring in an electric motor ?

14 gisE § ows fear @ @ d@ed € 7 @A) 3
- ‘What were the limitations of Newland's law of Octaves ? (any three)
s / OR |
HYE FTER SR Tl B oow wE ¥ R’ @ mr o ?
Why do you think that the noble gases are placed in a separate group ?

=~
3]

A5 aradE qu oErEdE @ET ¥ w em ¥ 7 (@ 9)

,//"E?’hat are the differences between éerobic and ana;rc-bic respiration ? (any three)
o/ dyar / OR
gl T By o o fofed | (@ &)

Write the differences between arteries and veins. (any three)

200 / M-214 6

IR W e..0.



' _State Ohm's law,

serr / OR
Fe wrn & ey % e gy fifew |
Write the practical applications of heating cffects of electric Current.
\.;7 ﬁgﬁ MR & Amited R gET |
vDraw a labelled diagram of a electric motor.

yyar / OR
Rl 835 gom & ot ol s 4w Yad gt
Draw magnetic field lines around a bar magnet-
B R ¥ e B e &7
b What is the role of decomposers in the ecosystem ?
s / OR
H1ET AR T qE O WX F el fE @ wd ww ¥ 7

:}that will happen if we kill all the organisms in one trophic level ?

119{"'JW—'31W (i) sfufirn & oMy @ @ ¥ 7 Sareew wha wEeEy |
| What do you mean by oxidation-reduction (Redox) reactions ? Explain with example.
Hqyar / OR |
TN Td SeTeiy afuRear @ @ o € ? wEew whta gummEe |

 What does one mean by exothermic and endothermic reactions ? Explain with examples.

20~ mwﬁaqmﬂﬂ%mwm% ? I & W @ P fafag
/)Vhat do you mean by reflection of light ? Write the law of reflection of light.

4

I / OR

i Hifg |

(i) ¥ N aTar (ii) omaEM. (Magnification)
Define -

(1)  Power of lens - (i) Magnification.
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‘/}21 mm-ﬂ'&;faM‘qmmm m?ﬁwmm'f"’"’”
4 fazamn = amattra fory g | e,
What do you mean by dispersion of vmng_,hghl ? Draw a Jabelled diagram of
//d spersion of white light by the glass pntm
97 / ,OR
@ A T T e wi v ¥ 7
Why is the colour of the clear sky blue ?

2008

}WW%WW mmﬁwmu(wm}

lefcrcntlatc between metal and non-metal pn the basis of their physical properties.
e (any five) r~

a4qa1 / OR
Ra B = 22 PN =5 P
amat dfl % fod e e @ e
Write the general properties for ionic conipdunds.

‘/fﬁ 9u F AIEA FE H @Wez TWiE @9 T |

“ /Draw a labelled diagram of longitudinal sechon of flower.
g4t / OR
fedeT aggza § fog vt = 3 7 £
How does binary fission differ from mulu':g;je fission ?
N

/7“/ ara # aer @ R Pk &8 dar 3 2
How is the sex of the child determined in human bemgs "
on. 1 5
A 7 o yam & fig mer % ﬁamaﬁﬁm ?
Why did Mendel choose the pea plant fo&:s experiments ?

O
N
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